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Reuse or recycle crossword
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Recycle your food scraps coordinate picture
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Use the correct bin number puzzle 

Light Blue (11) = 4

2 x 2 = 4

26 – 22 = 4

3 + 1 = 4

48 ÷ 12 = 4

77 – 73 = 4

2 + 2 = 4

16 ÷ 4 = 4

15 – 11 = 4

24 ÷ 6 = 4

4 x 1 = 4

51 – 47 = 4

Purple (11) = 6

60 ÷ 10 = 6

41 – 35 = 6

3 x 2 = 6

36 ÷ 6 = 6

2 + 4 = 6 

75 – 69 = 6

18 ÷ 3 = 6

5 + 1 = 6

88 – 82 = 6

72 ÷ 12 = 6

6 x 1 = 6

Grey (11) = 8

64 ÷ 8 = 8

4 + 4 = 8

85 – 77 = 8

40 ÷ 5 = 8

4 x 2 = 8

40 – 32 = 8

7 + 1 = 8

56 ÷ 7 = 8

27 – 19 = 8

6 + 2 = 8

48 ÷ 6 = 8

47 - 39 = 8

24 ÷ 3 = 8

Yellow (11) = 10

17 – 7 = 10

50 ÷ 5 = 10

2 x 5 = 10

7 + 3 = 10

100 ÷ 10 = 10

69 – 59 = 10

70 ÷ 7 = 10

4 + 6 = 10

73 – 63 = 10

8 + 2 = 10

120 ÷ 12 = 10

Dark Green (4) = 12

144 ÷ 12 = 12

4 + 8 = 12

61 – 49 = 12

4 x 3 = 12

Light Green (3) = 14

28 ÷ 2 = 14

6 + 8 = 14

74 – 60 = 14

Dark Blue (6) = 16

4 x 4 = 16

80 – 64 = 16

32 ÷ 2 = 16

5 + 11 = 16

8 x 2 = 16

12 + 4 = 16

Red (3) = 18

3 x 6 = 18

30 – 12 = 18

14 + 4 = 18

White (88) = 20

34 – 14 = 20

22 – 2 = 20

60 ÷ 3 = 20

35 – 15 = 20

56 – 36 = 20

80 ÷ 4 = 20

71 – 51 = 20




